® a=ccosB
@c = asin (90° — B)

® ¢ =bsinB+acosB
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O st c ¢ sin B
b b
tanB = — =
D tan a tan B
@cosB:g . a=ccosB
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cos(90 — B) = - - AH =bsinB

. ¢=AH+ BH = bsin B + acos B
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AH = 4sin 60°
V3

HC =8-BH
= 8 — 4 cos60°
=8-2=6
AC’ =AH +HC o= &
AC’ = (2V3)2 +62 =12+ 36 = 48
. x = 4v3(cm)
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14 sin 45° = x sin 60°

, 1442 = 3x
14v2 146
Xr=— — = —

14x — = 2=
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40°, /ACB =50° ¢ o, CH ] Zo]
7 (&, tan50° = 1.2, tan40° = 0.8

@ 2cm @)4 cm ® 5cm @ 6cm ® Tcem

CH = xcm 2} 31 AACH 4] AH = xtan50°
AABH A AH = (10 - x) tan40°
xtanb0° = 10tan40° — xtan 40 °
x(tan50° + tan40°) = 10 tan40°
10tan 40° 10x0.8

T tans0° + tand0° 12408

4(cm)
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(ACH = 45° + 15° = 60° ©] 11,

AH:CH= V3:1=h:CH, CH=

webA 4+ \/?gh:h, (3— V3)h =12, h=2(3 + V3) °|th.
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D 7V2cm? @14\/§cm2 ® 21V2cm?
@ 282 cm? ® 56 V2 cm?

1 5
5 X Tx8xsind5 =28 ‘/7— = 14V2(cm?)
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9l YA ABCD 9] 49|
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T=--10cm---~

@40 V3em? @ 30+V3cm? ® 20+V3cm?
@ 10+3cm? ® 54/3cm?

(d°])= 8 x 10 x sin 60° = 40 V3(cm?) o]t}
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AC=BD = x& stH —x 25in45° = 20V?2, \/_x = 202,

x2 =80, x=4+5
~AC=BD =145
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® 75v2 cm?

32 V2(cm?) o|ek.

o = 18 0] Zlo]7} 4em ©] I 11 Atolof 7]91 Zbo] 45°
A AR 8 W= o] FolA Qlrt.

1
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10. the 1T 2 BAAPAGNA A = 120° D W, 24 B

dole] B & ToHH?

A D

g4
=7
=C

B<< z
“12cm--

® 108 @ 144 ® 196 @304

® 340

B

D o4 AB ©f QAo el 4-410] e H 2
AADH | A

AH = AD cos60° =6

DH = AD sin60° = 6 V3

ABDH o4
BD = V/BH? + DH2
= \/(6+8)2 i (6«/5)2

= V304(cm)

ol
=0
rd




